
D
E
C
E
M
B
E
R
  2
0
22



December 2022

TEKNOROT REF: A-1108 ADAPTABLE AUDI
Control Arm and Ball Joint

Weight: 3,258

TT

MODEL NO BODY YEAR DIRECTION OEM NO

FV3 2014-
Front Left

Lower
8S0407151D, 8S0407151D L,
8S0407151D S1, 8J0407366

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 398,5 Bolt Metric: M12X1,5

A-644K Ball Joint Kit
Front Right

Lower
8J0407366

SB 487
Control Arm

Bushing
Center 1K0407182, 5Q0407182

TEKNOROT REF: A-1108S ADAPTABLE AUDI
Control Arm

Weight: 2,53

TT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

FV3 2014- Front Lower 8S0407151D*, 8S0407151DS*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 311,5

SB 487
Control Arm

Bushing
Center 1K0407182, 5Q0407182

www.teknorot.com 1

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: A-1109 ADAPTABLE AUDI
Control Arm and Ball Joint

Weight: 3,258

TT

MODEL NO BODY YEAR DIRECTION OEM NO

FV3 2014-
Front Right

Lower
8S0407151D, 8S0407151D R,
8S0407151D S2, 8J0407365

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 398,5 Bolt Metric: M12X1,5

A-645K Ball Joint Kit
Front Left

Lower
8J0407365

SB 487
Control Arm

Bushing
Center 1K0407182, 5Q0407182

TEKNOROT REF: AF-478 ADAPTABLE ALFA ROMEO
Control Arm and Ball Joint

Weight: 1,116

STELVIO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

949 2016-
Front Right

Upper
50539880, 68357022AA

Length: 267,3

www.teknorot.com 2

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: AF-479 ADAPTABLE ALFA ROMEO
Control Arm and Ball Joint

Weight: 1,116

STELVIO

MODEL NO BODY YEAR DIRECTION OEM NO

949 2016-
Front Left

Upper
50539881, 68356867AA

Length: 267,3

TEKNOROT REF: B-1358 ADAPTABLE BMW
Lateral Arm

Weight: 2,71

1-SERIES

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

E81, E82, E87,
E88

2004-2012 Rear 33326772899

Length: 400

www.teknorot.com 3

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: B-1358 ADAPTABLE BMW
Lateral Arm

Weight: 2,71

3-SERIES

MODEL NO BODY YEAR DIRECTION OEM NO

E90/E91/E92/E
93

2005-2011 Rear 33326772899

Length: 400

TEKNOROT REF: B-1358 ADAPTABLE BMW
Lateral Arm

Weight: 2,71

X1

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

E84 2009-2016 Rear 33326772899

Length: 400

www.teknorot.com 4

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: BM-BS195 ADAPTABLE BMW
Lateral Arm Bushing

Weight: 0,75

3-SERIES

MODEL NO BODY YEAR DIRECTION OEM NO

G20 2018-
Rear Lower
Rearward

31106879659*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 44,2

B-1298 Lateral Arm
Rear Lower
Rearward

31106879659

TEKNOROT REF: BU-248 ADAPTABLE BUICK
Lateral Arm

Weight: 1,222

ENCLAVE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2018-
Rear Right

Upper
84199654

Length: 391,4

www.teknorot.com 5

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: BU-248 ADAPTABLE CADILLAC
Lateral Arm

Weight: 1,222

XT5

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 2017-
Rear Right

Upper
84199654

Length: 391,4

TEKNOROT REF: BU-248 ADAPTABLE CADILLAC
Lateral Arm

Weight: 1,222

XT6

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2020-
Rear Right

Upper
84199654

Length: 391,4

www.teknorot.com 6

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: BU-248 ADAPTABLE CHEVROLET
Lateral Arm

Weight: 1,222

BLAZER

MODEL NO BODY YEAR DIRECTION OEM NO

3rd Gen 2018-
Rear Right

Upper
84199654

Length: 391,4

TEKNOROT REF: BU-248 ADAPTABLE CHEVROLET
Lateral Arm

Weight: 1,222

TRAVERSE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2018-
Rear Right

Upper
84199654

Length: 391,4

www.teknorot.com 7

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: BU-248 ADAPTABLE GMC
Lateral Arm

Weight: 1,222

ACADIA

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen 2017-
Rear Right

Upper
84199654

Length: 391,4

TEKNOROT REF: BU-249 ADAPTABLE BUICK
Lateral Arm

Weight: 1,222

ENCLAVE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2018-
Rear Left

Upper
84199653

Length: 391,4

www.teknorot.com 8

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: BU-249 ADAPTABLE CADILLAC
Lateral Arm

Weight: 1,222

XT5

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 2017-
Rear Left

Upper
84199653

Length: 391,4

TEKNOROT REF: BU-249 ADAPTABLE CADILLAC
Lateral Arm

Weight: 1,222

XT6

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2020-
Rear Left

Upper
84199653

Length: 391,4

www.teknorot.com 9

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: BU-249 ADAPTABLE CHEVROLET
Lateral Arm

Weight: 1,222

BLAZER

MODEL NO BODY YEAR DIRECTION OEM NO

3rd Gen 2018-
Rear Left

Upper
84199653

Length: 391,4

TEKNOROT REF: BU-249 ADAPTABLE CHEVROLET
Lateral Arm

Weight: 1,222

TRAVERSE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2018-
Rear Left

Upper
84199653

Length: 391,4

www.teknorot.com 10

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: BU-249 ADAPTABLE GMC
Lateral Arm

Weight: 1,222

ACADIA

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen 2017-
Rear Left

Upper
84199653

Length: 391,4

TEKNOROT REF: BU-258 ADAPTABLE BUICK
Lateral Arm

Weight: 1,756

ENCLAVE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2018- Rear Upper 84817026, 23333644

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 357,4

BU-194
Lateral Arm

Bushing
Rear Upper
Rearward

84817026*

CH-BS115
Lateral Arm

Bushing
Rear Upper 84817026*, 23333644

www.teknorot.com 11

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: BU-258 ADAPTABLE CADILLAC
Lateral Arm

Weight: 1,756

XT5

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 2017- Rear Upper 84817026, 23333644

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 357,4

BU-194
Lateral Arm

Bushing
Rear Upper
Rearward

84817026*

CH-BS115
Lateral Arm

Bushing
Rear Upper 84817026*, 23333644

TEKNOROT REF: BU-258 ADAPTABLE CADILLAC
Lateral Arm

Weight: 1,756

XT6

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2020- Rear Upper 84817026, 23333644

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 357,4

BU-194
Lateral Arm

Bushing
Rear Upper
Rearward

84817026*

CH-BS115
Lateral Arm

Bushing
Rear Upper 84817026*, 23333644

www.teknorot.com 12

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: BU-258 ADAPTABLE CHEVROLET
Lateral Arm

Weight: 1,756

BLAZER

MODEL NO BODY YEAR DIRECTION OEM NO

3rd Gen 2018- Rear Upper 84817026, 23333644

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 357,4

BU-194
Lateral Arm

Bushing
Rear Upper
Rearward

84817026*

CH-BS115
Lateral Arm

Bushing
Rear Upper 84817026*, 23333644

TEKNOROT REF: BU-258 ADAPTABLE CHEVROLET
Lateral Arm

Weight: 1,756

TRAVERSE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2018- Rear Upper 84817026, 23333644

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 357,4

BU-194
Lateral Arm

Bushing
Rear Upper
Rearward

84817026*

CH-BS115
Lateral Arm

Bushing
Rear Upper 84817026*, 23333644

www.teknorot.com 13

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: BU-258 ADAPTABLE GMC
Lateral Arm

Weight: 1,756

ACADIA

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen 2017- Rear Upper 84817026, 23333644

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 357,4

BU-194
Lateral Arm

Bushing
Rear Upper
Rearward

84817026*

CH-BS115
Lateral Arm

Bushing
Rear Upper 84817026*, 23333644

TEKNOROT REF: CD-1004 ADAPTABLE CADILLAC
Ball Joint

Weight: 0,343

XT5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2017- Front Lower 84722072*, 84722073*

Length: 102 Bolt Metric: M12X1,75

www.teknorot.com 14

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: CD-1004 ADAPTABLE GMC
Ball Joint

Weight: 0,343

ACADIA

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen 2017- Front Lower 84722072*, 84722073*

Length: 102 Bolt Metric: M12X1,75

TEKNOROT REF: CD-1024 ADAPTABLE CADILLAC
Ball Joint

Weight: 0,69

XTS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2013-2020 Front Lower MS50566, 22770325

Length: 117,4 Bolt Metric: M16X2

www.teknorot.com 15

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: CD-BS006 ADAPTABLE CADILLAC
Control Arm Bushing

Weight: 0,479

CTS

MODEL NO BODY YEAR DIRECTION OEM NO

3rd Gen 2014- Front Lower 20888438*, 20888439*

COMPONENTS NUMBER NAME DIRECTION OEM NO

AWD

Length: 67,5

CD-218
Control Arm

and Ball Joint

Front Right
Lower

Rearward

23462001

CD-219
Control Arm

and Ball Joint

Front Left
Lower

Rearward

23462000

CD-198 Control Arm
Front Right

Lower Forward
20888438

CD-199 Control Arm
Front Left

Lower Forward
20888439

www.teknorot.com 16

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: CH-BS115 ADAPTABLE BUICK
Lateral Arm Bushing

Weight: 0,118

ENCLAVE

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen 2018- Rear Upper 84817026*, 23333644

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 48

BU-258 Lateral Arm Rear Upper 84817026, 23333644

TEKNOROT REF: CH-BS115 ADAPTABLE CADILLAC
Lateral Arm Bushing

Weight: 0,118

XT5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2017- Rear Upper 84817026*, 23333644

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 48

BU-258 Lateral Arm Rear Upper 84817026, 23333644

www.teknorot.com 17

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: CH-BS115 ADAPTABLE CADILLAC
Lateral Arm Bushing

Weight: 0,118

XT6

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 2020- Rear Upper 84817026*, 23333644

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 48

BU-258 Lateral Arm Rear Upper 84817026, 23333644

TEKNOROT REF: CH-BS115 ADAPTABLE CHEVROLET
Lateral Arm Bushing

Weight: 0,118

BLAZER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2018- Rear Upper 84817026*, 23333644

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 48

BU-258 Lateral Arm Rear Upper 84817026, 23333644

www.teknorot.com 18

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: CH-BS115 ADAPTABLE CHEVROLET
Lateral Arm Bushing

Weight: 0,118

TRAVERSE

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen 2018- Rear Upper 84817026*, 23333644

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 48

BU-258 Lateral Arm Rear Upper 84817026, 23333644

TEKNOROT REF: CH-BS115 ADAPTABLE GMC
Lateral Arm Bushing

Weight: 0,118

ACADIA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2017- Rear Upper 84817026*, 23333644

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 48

BU-258 Lateral Arm Rear Upper 84817026, 23333644

www.teknorot.com 19

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: CR-493 ADAPTABLE CHRYSLER
Tie Rod

Weight: 0,445

CIRRUS

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 1995-2000 Front
EV323, 4656139, 4764995AF,

4764995AJ

Length: 210 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

TEKNOROT REF: CR-493 ADAPTABLE CHRYSLER
Tie Rod

Weight: 0,445

SEBRING

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

FJ/JX 1995-2000 Front
EV323, 4656139, 4764995AF,

4764995AJ

Length: 210 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

www.teknorot.com 20

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: CR-493 ADAPTABLE DODGE
Tie Rod

Weight: 0,445

STRATUS

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 1995-2000 Front
EV323, 4656139, 4764995AF,

4764995AJ

Length: 210 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

TEKNOROT REF: CR-493 ADAPTABLE PLYMOUTH
Tie Rod

Weight: 0,445

BREEZE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 1996-2000 Front
EV323, 4656139, 4764995AF,

4764995AJ

Length: 210 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

www.teknorot.com 21

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: DO-433 ADAPTABLE DODGE
Tie Rod

Weight: 0,557

NEON

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen 2000-2003 Front
EV403, 4656184AD, 4656750AF,

5093463AA

Length: 313 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

YEAR ONLY
2000-2003

TEKNOROT REF: FO-1264 ADAPTABLE FORD
Ball Joint

Weight: 0,591

RANGER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

I USA Type 1998-2011 Front Lower
RK620498*, RK620499*,

6L5Z3078AA*, 6L5Z3079AA*

Front Coil springs / USA
Market

Length: 98,1 Bolt Metric: M16X1,5

www.teknorot.com 22

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: FO-1264 ADAPTABLE MAZDA
Ball Joint

Weight: 0,591

B2300

MODEL NO BODY YEAR DIRECTION OEM NO

I Usa Made 2001-2010 Front Lower
RK620498*, RK620499*,

6L5Z3078AA*, 6L5Z3079AA*

Front Coil springs / USA
Market

Length: 98,1 Bolt Metric: M16X1,5

TEKNOROT REF: FO-1264 ADAPTABLE MAZDA
Ball Joint

Weight: 0,591

B2500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

UN 1998-2006 Front Lower
RK620498*, RK620499*,

6L5Z3078AA*, 6L5Z3079AA*

Front Coil springs / USA
Market

Length: 98,1 Bolt Metric: M16X1,5

www.teknorot.com 23

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: FO-1274 ADAPTABLE FORD
Ball Joint

Weight: 0,818

RANGER

MODEL NO BODY YEAR DIRECTION OEM NO

T6 2019- Front Lower KB3Z3078A*, KB3Z3079A*

USA Market

Length: 126 Bolt Metric: M14X2

TEKNOROT REF: FO-1418 ADAPTABLE FORD
Control Arm and Ball Joint

Weight: 9,702

RANGER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

TKE 2011-2019
Front Right

Lower
2237736, EB3C3078C2C

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 367,6 Bolt Metric: M16X2

FO-1075 Ball Joint Front Lower 1727228

www.teknorot.com 24

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: FO-1419 ADAPTABLE FORD
Control Arm and Ball Joint

Weight: 9,702

RANGER

MODEL NO BODY YEAR DIRECTION OEM NO

TKE 2011-2019
Front Left

Lower
2237738, EB3C3079C2C

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 367,6 Bolt Metric: M16X2

FO-1075 Ball Joint Front Lower 1727228

TEKNOROT REF: FO-1436 ADAPTABLE FORD
Stabilizer Bar Link

Weight: 0,562

BRONCO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

5th Gen 1990-1996 Rear MS40849, EOTZ5K484C

RWD

Length: 330 Housing Metric: M10X1,5

www.teknorot.com 25

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: FO-1436 ADAPTABLE FORD
Stabilizer Bar Link

Weight: 0,562

F-150

MODEL NO BODY YEAR DIRECTION OEM NO

9th Gen 1992-1997 Rear MS40849, EOTZ5K484C

RWD

Length: 330 Housing Metric: M10X1,5

TEKNOROT REF: FO-1436 ADAPTABLE FORD
Stabilizer Bar Link

Weight: 0,562

F-350

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

9th Gen 1992-1997 Rear MS40849, EOTZ5K484C

RWD

Length: 330 Housing Metric: M10X1,5

www.teknorot.com 26

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: FO-1748 ADAPTABLE FORD
Lateral Arm

Weight: 1,258

FLEX

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen 2013-2019 Rear Upper DG1Z5A972B, DG1Z5A972A

Adjustable Type

Length: 292 Bolt Metric: M12X1,75

TEKNOROT REF: FO-1748 ADAPTABLE FORD
Lateral Arm

Weight: 1,258

TAURUS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

6th Gen 2010-2017 Rear Upper DG1Z5A972B, DG1Z5A972A

Adjustable Type

Length: 292 Bolt Metric: M12X1,75

www.teknorot.com 27

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: FO-1748 ADAPTABLE LINCOLN
Lateral Arm

Weight: 1,258

MKT

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 2009-2019 Rear Upper DG1Z5A972B, DG1Z5A972A

Adjustable Type

Length: 292 Bolt Metric: M12X1,75

TEKNOROT REF: FO-1758 ADAPTABLE FORD
Lateral Arm

Weight: 1,259

EXPLORER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

U502 2010-2020 Rear Lower DB5Z5A972H

Adjustable Type

Length: 281

www.teknorot.com 28

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: HY-1178 ADAPTABLE HYUNDAI
Control Arm and Ball Joint

Weight: 4,802

TUCSON

MODEL NO BODY YEAR DIRECTION OEM NO

NX4 2020-
Front Right

Lower
54501N9000

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 385,4

HY-1024K Ball Joint Kit Front Lower 54501N9000*, 54500N9000*

HY-BS159
Control Arm

Bushing
Front Inner 54501N9000*

HY-BS160
Control Arm

Bushing
Front Outer 54501N9000*

TEKNOROT REF: HY-1178S ADAPTABLE HYUNDAI
Control Arm

Weight: 4,044

TUCSON

MODEL NO BODY YEAR DIRECTION OEM NO

NX4 2020-
Front Right

Lower
54501N9000*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 318,4

HY-1024K Ball Joint Kit Front Lower 54501N9000*, 54500N9000*

HY-BS159
Control Arm

Bushing
Front Inner 54501N9000*

HY-BS160
Control Arm

Bushing
Front Outer 54501N9000*

www.teknorot.com 29

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: HY-1179 ADAPTABLE HYUNDAI
Control Arm and Ball Joint

Weight: 4,802

TUCSON

MODEL NO BODY YEAR DIRECTION OEM NO

NX4 2020-
Front Left

Lower
54500N9000

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 385,4

HY-1024K Ball Joint Kit Front Lower 54501N9000*, 54500N9000*

HY-BS159
Control Arm

Bushing
Front Inner 54501N9000*

HY-BS160
Control Arm

Bushing
Front Outer 54501N9000*

TEKNOROT REF: HY-1179S ADAPTABLE HYUNDAI
Control Arm

Weight: 4,044

TUCSON

MODEL NO BODY YEAR DIRECTION OEM NO

NX4 2020-
Front Left

Lower
54500N9000*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 318,4

HY-1024K Ball Joint Kit Front Lower 54501N9000*, 54500N9000*

HY-BS159
Control Arm

Bushing
Front Inner 54501N9000*

HY-BS160
Control Arm

Bushing
Front Outer 54501N9000*

www.teknorot.com 30

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: HY-BS159 ADAPTABLE HYUNDAI
Control Arm Bushing

Weight: 0,596

TUCSON

MODEL NO BODY YEAR DIRECTION OEM NO

NX4 2020- Front Inner 54501N9000*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 178

HY-1178
Control Arm

and Ball Joint
Front Right

Lower
54501N9000

HY-1178S Control Arm
Front Right

Lower
54501N9000*

HY-1179
Control Arm

and Ball Joint
Front Left

Lower
54500N9000

HY-1179S Control Arm
Front Left

Lower
54500N9000*

www.teknorot.com 31

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: HY-BS160 ADAPTABLE HYUNDAI
Control Arm Bushing

Weight: 0,422

TUCSON

MODEL NO BODY YEAR DIRECTION OEM NO

NX4 2020- Front Outer 54501N9000*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 68

HY-1178
Control Arm

and Ball Joint
Front Right

Lower
54501N9000

HY-1178S Control Arm
Front Right

Lower
54501N9000*

HY-1179
Control Arm

and Ball Joint
Front Left

Lower
54500N9000

HY-1179S Control Arm
Front Left

Lower
54500N9000*

www.teknorot.com 32

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: IN-188 ADAPTABLE INFINITI
Control Arm and Ball Joint

Weight: 1,446

G35

MODEL NO BODY YEAR DIRECTION OEM NO

V35 2003-2008
Front Right

Lower Forward
54500AL801

Length: 324,5

YEAR ONLY
2005-2006

TEKNOROT REF: IN-189 ADAPTABLE INFINITI
Control Arm and Ball Joint

Weight: 1,446

G35

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

V35 2003-2008
Front Left

Lower Forward
54501AL801

Length: 324,5

YEAR ONLY
2005-2006

www.teknorot.com 33

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: JA-1014 ADAPTABLE JAGUAR
Control Arm Bushing

Weight: 0,255

S-TYPE

MODEL NO BODY YEAR DIRECTION OEM NO

CCX 1999-2008
Rear Upper
Rearward

C2D49448*, C2D49449*

Length: 50

YEAR ONLY
1999-2008

TEKNOROT REF: JA-1014 ADAPTABLE JAGUAR
Control Arm Bushing

Weight: 0,255

XF

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X250 2008-2015
Rear Upper
Rearward

C2D49448*, C2D49449*

VIN: Until R47153

Length: 50

YEAR ONLY
2008-2015

www.teknorot.com 34

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: JA-1014 ADAPTABLE JAGUAR
Control Arm Bushing

Weight: 0,255

XJ

MODEL NO BODY YEAR DIRECTION OEM NO

X351 2010-2019
Rear Upper
Rearward

C2D49448*, C2D49449*

VIN: Until V39426

Length: 50

YEAR ONLY
2010-2019

TEKNOROT REF: JA-1014 ADAPTABLE JAGUAR
Control Arm Bushing

Weight: 0,255

XK

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X150 2006-2015
Rear Upper
Rearward

C2D49448*, C2D49449*

VIN: Until B32752

Length: 50

YEAR ONLY
2006-2015

www.teknorot.com 35

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: JA-1024 ADAPTABLE JAGUAR
Lateral Arm Bushing

Weight: 0,363

S-TYPE

MODEL NO BODY YEAR DIRECTION OEM NO

CCX 1999-2008 Rear Outer XR88759*, XR88760*

VIN: Until N38572

Length: 54

TEKNOROT REF: JA-1138 ADAPTABLE JAGUAR
Lateral Arm

Weight: 0,589

XE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X760 2015-
Rear Lower

Forward
T2H16771

Length: 243,5

www.teknorot.com 36

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: JA-1138 ADAPTABLE JAGUAR
Lateral Arm

Weight: 0,589

XF

MODEL NO BODY YEAR DIRECTION OEM NO

X260 2016-
Rear Lower

Forward
T2H16771

Length: 243,5

TEKNOROT REF: JA-934 ADAPTABLE JAGUAR
Lateral Arm Bushing

Weight: 0,383

S-TYPE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

CCX 1999-2008 Rear Lower XR88759*, XR88760*

Length: 59

www.teknorot.com 37

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: JA-934 ADAPTABLE JAGUAR
Lateral Arm Bushing

Weight: 0,383

XK

MODEL NO BODY YEAR DIRECTION OEM NO

X150 2006-2015 Rear Lower XR88759*, XR88760*

Length: 59

TEKNOROT REF: JE-1004 ADAPTABLE JEEP
Ball Joint

Weight: 0,633

LIBERTY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

KJ 2001-2008 Front Lower K3199, 5069161AB, 5114037AB

Length: 104,5 Bolt Metric: M14X1,5

YEAR ONLY
2002-2004

www.teknorot.com 38

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: KI-693 ADAPTABLE KIA
Tie Rod

Weight: 0,409

RIO

MODEL NO BODY YEAR DIRECTION OEM NO

JB 2005-2011 Front EV800348, 565401G000

Manual Steering

Length: 181 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

TEKNOROT REF: KI-703 ADAPTABLE KIA
Tie Rod

Weight: 0,576

K900

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

RJ 2015- Front 577243T250

Length: 215 Bolt Metric: M16X1,5 Housing Metric: M18X1,5

www.teknorot.com 39

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: KI-758 ADAPTABLE KIA
Control Arm and Ball Joint

Weight: 3,43

SOUL

MODEL NO BODY YEAR DIRECTION OEM NO

SK3 2019-
Front Right

Lower
54501K0100

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 378,5

KI-430 Ball Joint Front Lower 545302K000

TEKNOROT REF: KI-759 ADAPTABLE KIA
Control Arm and Ball Joint

Weight: 3,43

SOUL

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

SK3 2019-
Front Left

Lower
54500K0100

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 378,5

KI-430 Ball Joint Front Lower 545302K000

www.teknorot.com 40

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: KI-778 ADAPTABLE KIA
Control Arm

Weight: 4,366

MAGENTIS

MODEL NO BODY YEAR DIRECTION OEM NO

MG 2005-2010
Front Right

Lower
545012G501

Length: 283

TEKNOROT REF: KI-778 ADAPTABLE KIA
Control Arm

Weight: 4,366

OPTIMA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2006-2010
Front Right

Lower
545012G501

Length: 283

www.teknorot.com 41

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: KI-779 ADAPTABLE KIA
Control Arm

Weight: 4,366

MAGENTIS

MODEL NO BODY YEAR DIRECTION OEM NO

MG 2005-2010
Front Left

Lower
545002G501

Length: 283

TEKNOROT REF: KI-779 ADAPTABLE KIA
Control Arm

Weight: 4,366

OPTIMA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2006-2010
Front Left

Lower
545002G501

Length: 283

www.teknorot.com 42

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: LX-356 ADAPTABLE LEXUS
Stabilizer Bar Link

Weight: 0,373

IS200t

MODEL NO BODY YEAR DIRECTION OEM NO

XE30 2014- Front Right 4882053020

RWD/ Base Model/ F
Sport

Length: 85 Bolt Metric: M12X1,25

YEAR ONLY
2014-2016

TEKNOROT REF: LX-356 ADAPTABLE LEXUS
Stabilizer Bar Link

Weight: 0,373

IS250

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen XE30 2014- Front Right 4882053020

RWD/ Base Model/ F
Sport

Length: 85 Bolt Metric: M12X1,25

YEAR ONLY
2014-2016

www.teknorot.com 43

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: LX-356 ADAPTABLE LEXUS
Stabilizer Bar Link

Weight: 0,373

IS300

MODEL NO BODY YEAR DIRECTION OEM NO

XE30 2014- Front Right 4882053020

RWD/ Base Model/ F
Sport

Length: 85 Bolt Metric: M12X1,25

YEAR ONLY
2014-2016

TEKNOROT REF: LX-356 ADAPTABLE LEXUS
Stabilizer Bar Link

Weight: 0,373

IS350

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XE30 2014- Front Right 4882053020

RWD/ Base Model/ F
Sport

Length: 85 Bolt Metric: M12X1,25

YEAR ONLY
2014-2016

www.teknorot.com 44

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: LX-357 ADAPTABLE LEXUS
Stabilizer Bar Link

Weight: 0,373

IS200t

MODEL NO BODY YEAR DIRECTION OEM NO

XE30 2014- Front Left 4881053020

RWD/ Base Model/ F
Sport

Length: 85 Bolt Metric: M12X1,25

YEAR ONLY
2014-2016

TEKNOROT REF: LX-357 ADAPTABLE LEXUS
Stabilizer Bar Link

Weight: 0,373

IS250

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen XE30 2014- Front Left 4881053020

RWD/ Base Model/ F
Sport

Length: 85 Bolt Metric: M12X1,25

YEAR ONLY
2014-2016

www.teknorot.com 45

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: LX-357 ADAPTABLE LEXUS
Stabilizer Bar Link

Weight: 0,373

IS300

MODEL NO BODY YEAR DIRECTION OEM NO

XE30 2014- Front Left 4881053020

RWD/ Base Model/ F
Sport

Length: 85 Bolt Metric: M12X1,25

YEAR ONLY
2014-2016

TEKNOROT REF: LX-357 ADAPTABLE LEXUS
Stabilizer Bar Link

Weight: 0,373

IS350

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XE30 2014- Front Left 4881053020

RWD/ Base Model/ F
Sport

Length: 85 Bolt Metric: M12X1,25

YEAR ONLY
2014-2016

www.teknorot.com 46

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: LX-458 ADAPTABLE LEXUS
Lateral Arm

Weight: 1,189

GS300

MODEL NO BODY YEAR DIRECTION OEM NO

L10 2013-
Rear Right

Upper
4879030130

Length: 298,6

TEKNOROT REF: LX-458 ADAPTABLE LEXUS
Lateral Arm

Weight: 1,189

GS350

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L10 2013-
Rear Right

Upper
4879030130

Length: 298,6

www.teknorot.com 47

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: LX-458 ADAPTABLE LEXUS
Lateral Arm

Weight: 1,189

RC

MODEL NO BODY YEAR DIRECTION OEM NO

XC10 2015-
Rear Right

Upper
4879030130

Length: 298,6

TEKNOROT REF: LX-458 ADAPTABLE LEXUS
Lateral Arm

Weight: 1,189

IS250

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen XE30 2014-
Rear Right

Upper
4879030130

Length: 298,6

www.teknorot.com 48

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: LX-458 ADAPTABLE LEXUS
Lateral Arm

Weight: 1,189

IS350

MODEL NO BODY YEAR DIRECTION OEM NO

XE30 2014-
Rear Right

Upper
4879030130

Length: 298,6

TEKNOROT REF: LX-458 ADAPTABLE LEXUS
Lateral Arm

Weight: 1,189

IS200t

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XE30 2014-
Rear Right

Upper
4879030130

Length: 298,6

www.teknorot.com 49

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: LX-458 ADAPTABLE LEXUS
Lateral Arm

Weight: 1,189

IS300

MODEL NO BODY YEAR DIRECTION OEM NO

XE30 2014-
Rear Right

Upper
4879030130

Length: 298,6

TEKNOROT REF: LX-458 ADAPTABLE LEXUS
Lateral Arm

Weight: 1,189

GS450h

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L10 2013-
Rear Right

Upper
4879030130

Length: 298,6

www.teknorot.com 50

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: LX-459 ADAPTABLE LEXUS
Lateral Arm

Weight: 1,189

GS300

MODEL NO BODY YEAR DIRECTION OEM NO

L10 2013-
Rear Left

Upper
4879030140

Length: 298,6

TEKNOROT REF: LX-459 ADAPTABLE LEXUS
Lateral Arm

Weight: 1,189

GS350

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L10 2013-
Rear Left

Upper
4879030140

Length: 298,6

www.teknorot.com 51

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: LX-459 ADAPTABLE LEXUS
Lateral Arm

Weight: 1,189

RC

MODEL NO BODY YEAR DIRECTION OEM NO

XC10 2015-
Rear Left

Upper
4879030140

Length: 298,6

TEKNOROT REF: LX-459 ADAPTABLE LEXUS
Lateral Arm

Weight: 1,189

IS250

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen XE30 2014-
Rear Left

Upper
4879030140

Length: 298,6

www.teknorot.com 52

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: LX-459 ADAPTABLE LEXUS
Lateral Arm

Weight: 1,189

IS350

MODEL NO BODY YEAR DIRECTION OEM NO

XE30 2014-
Rear Left

Upper
4879030140

Length: 298,6

TEKNOROT REF: LX-459 ADAPTABLE LEXUS
Lateral Arm

Weight: 1,189

IS200t

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XE30 2014-
Rear Left

Upper
4879030140

Length: 298,6

www.teknorot.com 53

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: LX-459 ADAPTABLE LEXUS
Lateral Arm

Weight: 1,189

IS300

MODEL NO BODY YEAR DIRECTION OEM NO

XE30 2014-
Rear Left

Upper
4879030140

Length: 298,6

TEKNOROT REF: LX-459 ADAPTABLE LEXUS
Lateral Arm

Weight: 1,189

GS450h

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L10 2013-
Rear Left

Upper
4879030140

Length: 298,6

www.teknorot.com 54

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: LX-BS020 ADAPTABLE LEXUS
Control Arm Bushing

Weight: 0,18

LS460

MODEL NO BODY YEAR DIRECTION OEM NO

4th Gen 2007-2017 Front Upper 4861059135*, 4863059135*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 49,8

LX-468
Control Arm

and Ball Joint

Front Right
Upper

Rearward

4861059135

LX-469
Control Arm

and Ball Joint

Front Left
Upper

Rearward

4863059135

LX-438
Suspension
Control Arm

and Ball Joint

Front Right
Upper

4861059125

LX-439
Suspension
Control Arm

and Ball Joint

Front Left
Upper

4863059125

www.teknorot.com 55

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: M-1111 ADAPTABLE MERCEDES
Tie Rod End

Weight: 0,859

S-CLASS

MODEL NO BODY YEAR DIRECTION OEM NO

W223 2020- Front 2234601401

Length: 175 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

TEKNOROT REF: M-1146 ADAPTABLE MERCEDES
Stabilizer Bar Link

Weight: 0,671

S-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W223 2020- Front Right 2233206703

4x2

Length: 302,4 Bolt Metric: M12X1,5

www.teknorot.com 56

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: M-1147 ADAPTABLE MERCEDES
Stabilizer Bar Link

Weight: 0,671

S-CLASS

MODEL NO BODY YEAR DIRECTION OEM NO

W223 2020- Front Left 2233206603

4x2

Length: 302,4 Bolt Metric: M12X1,5

TEKNOROT REF: M-1278 ADAPTABLE MERCEDES
Control Arm and Ball Joint

Weight: 1,828

GLE-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W167 2019-
Front Right

Upper
1673301400

Except AMG

Length: 213,5 Bolt Metric: M14X1,5

www.teknorot.com 57

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: M-1278 ADAPTABLE MERCEDES
Control Arm and Ball Joint

Weight: 1,828

GLS-CLASS

MODEL NO BODY YEAR DIRECTION OEM NO

X167 2019-
Front Right

Upper
1673301400

Except AMG

Length: 213,5 Bolt Metric: M14X1,5

TEKNOROT REF: M-1279 ADAPTABLE MERCEDES
Control Arm and Ball Joint

Weight: 1,828

GLE-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W167 2019-
Front Left

Upper
1673301300

Except AMG

Length: 213,5 Bolt Metric: M14X1,5

www.teknorot.com 58

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: M-1279 ADAPTABLE MERCEDES
Control Arm and Ball Joint

Weight: 1,828

GLS-CLASS

MODEL NO BODY YEAR DIRECTION OEM NO

X167 2019-
Front Left

Upper
1673301300

Except AMG

Length: 213,5 Bolt Metric: M14X1,5

TEKNOROT REF: M-1288 ADAPTABLE MERCEDES
Control Arm and Ball Joint

Weight: 1,885

GLE-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W167 2019-
Front Right

Upper
1673306800

Only AMG

Length: 213,5 Bolt Metric: M14X1,5

www.teknorot.com 59

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: M-1288 ADAPTABLE MERCEDES
Control Arm and Ball Joint

Weight: 1,885

GLS-CLASS

MODEL NO BODY YEAR DIRECTION OEM NO

X167 2019-
Front Right

Upper
1673306800

Only AMG

Length: 213,5 Bolt Metric: M14X1,5

TEKNOROT REF: M-1289 ADAPTABLE MERCEDES
Control Arm and Ball Joint

Weight: 1,885

GLE-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W167 2019-
Front Left

Upper
1673306700

Only AMG

Length: 213,5 Bolt Metric: M14X1,5

www.teknorot.com 60

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: M-1289 ADAPTABLE MERCEDES
Control Arm and Ball Joint

Weight: 1,885

GLS-CLASS

MODEL NO BODY YEAR DIRECTION OEM NO

X167 2019-
Front Left

Upper
1673306700

Only AMG

Length: 213,5 Bolt Metric: M14X1,5

TEKNOROT REF: MA-953 ADAPTABLE MAZDA
Tie Rod

Weight: 0,647

MPV

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

II  ( LW ) 1999-2006 Front EV80684, LC6232240B

Length: 316 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

www.teknorot.com 61

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: MA-961 ADAPTABLE MAZDA
Tie Rod End

Weight: 0,501

CX-30

MODEL NO BODY YEAR DIRECTION OEM NO

DM 2019- Front DGH932280

Length: 140 Bolt Metric: M12X1,25 Housing Metric: M14X1,5

TEKNOROT REF: N-1086 ADAPTABLE NISSAN
Stabilizer Bar Link

Weight: 0,404

TITAN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

A61 2016- Front 54618EZ10A

2WD

Length: 96 Bolt Metric: M12X1,25

www.teknorot.com 62

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: N-1113 ADAPTABLE NISSAN
Tie Rod

Weight: 0,708

TITAN

MODEL NO BODY YEAR DIRECTION OEM NO

A61 2016- Front 48521EZ40B

Length: 266 Bolt Metric: M16X1,5 Housing Metric: M24X1,5

TEKNOROT REF: N-1278 ADAPTABLE NISSAN
Control Arm and Ball Joint

Weight: 3,046

ALTIMA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

6th Gen 2019- Front Right 545006CA0A

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 351,3

SB 912
Control Arm

Bushing
Front Lower

Outer
545003TA0B*, 545013TA0B*

www.teknorot.com 63

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: N-1279 ADAPTABLE NISSAN
Control Arm and Ball Joint

Weight: 3,046

ALTIMA

MODEL NO BODY YEAR DIRECTION OEM NO

6th Gen 2019- Front Left 545016CA0A

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 351,3

SB 912
Control Arm

Bushing
Front Lower

Outer
545003TA0B*, 545013TA0B*

TEKNOROT REF: N-1318 ADAPTABLE NISSAN
Lateral Arm

Weight: 2,058

NAVARA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

NP300 (D23) 2015- Rear Upper 551204JA9A

Length: 583

www.teknorot.com 64

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: N-1318 ADAPTABLE RENAULT
Lateral Arm

Weight: 2,058

ALASKAN

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 2018- Rear Upper 551204JA9A

Length: 583

TEKNOROT REF: N-1328 ADAPTABLE NISSAN
Lateral Arm

Weight: 0,769

X-TRAIL

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen ( T30 ) 2001-2007
Rear Lower

Forward
551108H505

Length: 365,5

www.teknorot.com 65

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: N-1378 ADAPTABLE NISSAN
Lateral Arm

Weight: 0,672

MAXIMA

MODEL NO BODY YEAR DIRECTION OEM NO

A35 2009-2014
Rear Lower

Forward
CMS301165, 551A09N00A

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 299,5

SB 1118
Control Arm

Bushing
Rear 551A0JA00*

TEKNOROT REF: R-1005 ADAPTABLE RENAULT
Ball Joint

Weight: 0,267

TALIANT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2020- Front 545041584R*, 545054787R*

Length: 61,2

www.teknorot.com 66

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: R-1005 ADAPTABLE DACIA
Ball Joint

Weight: 0,267

LOGAN

MODEL NO BODY YEAR DIRECTION OEM NO

III 2020- Front 545041584R*, 545054787R*

Length: 61,2

TEKNOROT REF: R-1005 ADAPTABLE DACIA
Ball Joint

Weight: 0,267

SANDERO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

III 2020- Front 545041584R*, 545054787R*

Length: 61,2

www.teknorot.com 67

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: R-963 ADAPTABLE RENAULT
Tie Rod

Weight: 0,423

TALIANT

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 2020- Front 485219453R

Length: 212 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

TEKNOROT REF: R-963 ADAPTABLE DACIA
Tie Rod

Weight: 0,423

LOGAN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

III 2020- Front 485219453R

Length: 212 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

www.teknorot.com 68

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: R-963 ADAPTABLE DACIA
Tie Rod

Weight: 0,423

SANDERO

MODEL NO BODY YEAR DIRECTION OEM NO

III 2020- Front 485219453R

Length: 212 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

TEKNOROT REF: R-963K ADAPTABLE RENAULT
Tie Rod Kit

Weight: 0,491

TALIANT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2020- Front 485219453R*

Length: 212 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

www.teknorot.com 69

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: R-963K ADAPTABLE DACIA
Tie Rod Kit

Weight: 0,491

LOGAN

MODEL NO BODY YEAR DIRECTION OEM NO

III 2020- Front 485219453R*

Length: 212 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

TEKNOROT REF: R-963K ADAPTABLE DACIA
Tie Rod Kit

Weight: 0,491

SANDERO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

III 2020- Front 485219453R*

Length: 212 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

www.teknorot.com 70

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: RA-121 ADAPTABLE RAM
Tie Rod End

Weight: 0,803

1500

MODEL NO BODY YEAR DIRECTION OEM NO

5th Gen 2019- Front 68399088AC

Length: 127 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

www.teknorot.com 71

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: RA-178 ADAPTABLE RAM
Control Arm and Ball Joint

Weight: 8,8

1500

MODEL NO BODY YEAR DIRECTION OEM NO

5th Gen 2019-
Front Right

Lower
68261620AE

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 427 Bolt Metric: M16X1,5

DO-365
Suspension

Ball Joint
Front Lower

68298346AB*, 68298347AB*,
4877199AB, 55398377AB

SB 1346
Control Arm

Bushing
Front Lower

Outer
68298346AB*, 68298347AB*

SB 1347
Control Arm

Bushing
Front Lower

Inner
68298346AB*, 68298347AB*

SB 1348
Control Arm

Bushing
Front Lower

Center
68298346AB*, 68298347AB*

www.teknorot.com 72

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: RA-179 ADAPTABLE RAM
Control Arm and Ball Joint

Weight: 8,8

1500

MODEL NO BODY YEAR DIRECTION OEM NO

5th Gen 2019-
Front Left

Lower
68261621AE

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 427 Bolt Metric: M16X1,5

DO-365
Suspension

Ball Joint
Front Lower

68298346AB*, 68298347AB*,
4877199AB, 55398377AB

SB 1346
Control Arm

Bushing
Front Lower

Outer
68298346AB*, 68298347AB*

SB 1347
Control Arm

Bushing
Front Lower

Inner
68298346AB*, 68298347AB*

SB 1348
Control Arm

Bushing
Front Lower

Center
68298346AB*, 68298347AB*

www.teknorot.com 73

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: SU-644 ADAPTABLE SUBARU
Ball Joint

Weight: 0,318

IMPREZA

MODEL NO BODY YEAR DIRECTION OEM NO

GJ,GP 2012-2016 Rear Upper 20252VC020*, 20252FJ030*

Length: 74,6

TEKNOROT REF: SU-644 ADAPTABLE SUBARU
Ball Joint

Weight: 0,318

LEGACY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

VI 2015-2020 Rear Upper 20252VC020*, 20252FJ030*

Length: 74,6

www.teknorot.com 74

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: SU-644 ADAPTABLE SUBARU
Ball Joint

Weight: 0,318

OUTBACK

MODEL NO BODY YEAR DIRECTION OEM NO

BS 2015- Rear Upper 20252VC020*, 20252FJ030*

Length: 74,6

TEKNOROT REF: SZ-1001 ADAPTABLE SUZUKI
Tie Rod End

Weight: 0,3

JIMNY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

JB64W/JB74W 2016- Front Right 4882078R00

Length: 86 Bolt Metric: M12X1,25 Housing Metric: M16X1,5

www.teknorot.com 75

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: SZ-1002 ADAPTABLE SUZUKI
Tie Rod End

Weight: 0,3

JIMNY

MODEL NO BODY YEAR DIRECTION OEM NO

JB64W/JB74W 2016- Front Left 4881078R00

Length: 86 Bolt Metric: M12X1,25 Housing Metric: M16X1,5

TEKNOROT REF: SZ-643 ADAPTABLE SUZUKI
Tie Rod

Weight: 0,516

IGNIS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

MF 2016- Front 4883062R00

Length: 294 Bolt Metric: M14X1,5 Housing Metric: M16X1

www.teknorot.com 76

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: T-1151 ADAPTABLE TOYOTA
Tie Rod End

Weight: 0,489

RAV4

MODEL NO BODY YEAR DIRECTION OEM NO

XA50 / 5th Gen 2019- Front 4546049105

Japan Built / Le Model

Length: 103 Bolt Metric: M12X1,25 Housing Metric: M16X1,5

TEKNOROT REF: T-1161 ADAPTABLE TOYOTA
Tie Rod End

Weight: 0,529

HIGHLANDER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

UX70 2019- Front 4546009370

Length: 123 Bolt Metric: M12X1,25 Housing Metric: M16X1,5

www.teknorot.com 77

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: T-1243 ADAPTABLE TOYOTA
Tie Rod

Weight: 0,78

MATRIX

MODEL NO BODY YEAR DIRECTION OEM NO

ZZE132 /
ZZE133

2002-2008 Front
EV81000, 4550301040,

4550309450

Length: 352 Bolt Metric: M15X1,5 Housing Metric: M14X1,5

TEKNOROT REF: T-1243 ADAPTABLE PONTIAC
Tie Rod

Weight: 0,78

VIBE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2003-2010 Front
EV81000, 4550301040,

4550309450

Length: 352 Bolt Metric: M15X1,5 Housing Metric: M14X1,5

www.teknorot.com 78

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: T-1458 ADAPTABLE TOYOTA
Lateral Arm

Weight: 1,36

HIGHLANDER

MODEL NO BODY YEAR DIRECTION OEM NO

XU40 2008-2013 Rear Right 4873048150

Length: 490

TEKNOROT REF: T-1458 ADAPTABLE TOYOTA
Lateral Arm

Weight: 1,36

VENZA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2009-2019 Rear Right 4873048150

Length: 490

www.teknorot.com 79

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: T-1459 ADAPTABLE TOYOTA
Lateral Arm

Weight: 1,367

HIGHLANDER

MODEL NO BODY YEAR DIRECTION OEM NO

XU40 2008-2013 Rear Left 4874048040

Length: 490

TEKNOROT REF: T-1459 ADAPTABLE TOYOTA
Lateral Arm

Weight: 1,367

VENZA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2009-2019 Rear Left 4874048040

Length: 490

www.teknorot.com 80

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: V-1014K ADAPTABLE VOLKSWAGEN
Ball Joint Kit

Weight: 0,628

GOLF

MODEL NO BODY YEAR DIRECTION OEM NO

VIII 2020-
Front Right

Lower
5Q0407365E

COMPONENTS NUMBER NAME DIRECTION OEM NO

for Vehicles with
Aluminum Wheel Bearing

Length: 97 Bolt Metric: M12X1,5 Housing Metric: M10X1,5

V-958
Control Arm

and Ball Joint
Front Right

Lower
5WA407152A

TEKNOROT REF: V-1014K ADAPTABLE SEAT
Ball Joint Kit

Weight: 0,628

LEON

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2020-
Front Right

Lower
5Q0407365E

COMPONENTS NUMBER NAME DIRECTION OEM NO

for Vehicles with
Aluminum Wheel Bearing

Length: 97 Bolt Metric: M12X1,5 Housing Metric: M10X1,5

V-958
Control Arm

and Ball Joint
Front Right

Lower
5WA407152A

www.teknorot.com 81

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: V-1014K ADAPTABLE SKODA
Ball Joint Kit

Weight: 0,628

OCTAVIA

MODEL NO BODY YEAR DIRECTION OEM NO

4th Gen 2020-
Front Right

Lower
5Q0407365E

COMPONENTS NUMBER NAME DIRECTION OEM NO

for Vehicles with
Aluminum Wheel Bearing

Length: 97 Bolt Metric: M12X1,5 Housing Metric: M10X1,5

V-958
Control Arm

and Ball Joint
Front Right

Lower
5WA407152A

TEKNOROT REF: V-1015K ADAPTABLE VOLKSWAGEN
Ball Joint Kit

Weight: 0,628

GOLF

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

VIII 2020-
Front Left

Lower
5Q0407366E

COMPONENTS NUMBER NAME DIRECTION OEM NO

for Vehicles with
Aluminum Wheel Bearing

Length: 97 Bolt Metric: M12X1,5 Housing Metric: M10X1,5

V-959
Control Arm

and Ball Joint
Front Left

Lower
5WA407151A

www.teknorot.com 82

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: V-1015K ADAPTABLE SEAT
Ball Joint Kit

Weight: 0,628

LEON

MODEL NO BODY YEAR DIRECTION OEM NO

4th Gen 2020-
Front Left

Lower
5Q0407366E

COMPONENTS NUMBER NAME DIRECTION OEM NO

for Vehicles with
Aluminum Wheel Bearing

Length: 97 Bolt Metric: M12X1,5 Housing Metric: M10X1,5

V-959
Control Arm

and Ball Joint
Front Left

Lower
5WA407151A

TEKNOROT REF: V-1015K ADAPTABLE SKODA
Ball Joint Kit

Weight: 0,628

OCTAVIA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2020-
Front Left

Lower
5Q0407366E

COMPONENTS NUMBER NAME DIRECTION OEM NO

for Vehicles with
Aluminum Wheel Bearing

Length: 97 Bolt Metric: M12X1,5 Housing Metric: M10X1,5

V-959
Control Arm

and Ball Joint
Front Left

Lower
5WA407151A

www.teknorot.com 83

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: V-1108 ADAPTABLE VOLKSWAGEN
Lateral Arm

Weight: 3,1

CADDY

MODEL NO BODY YEAR DIRECTION OEM NO

Type SB 2020- Rear 5R3501529C

for Vehicles with
Aluminum Wheel Bearing

Length: 951,5

TEKNOROT REF: V-958 ADAPTABLE VOLKSWAGEN
Control Arm and Ball Joint

Weight: 3,751

GOLF

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

VIII 2020-
Front Right

Lower
5WA407152A

COMPONENTS NUMBER NAME DIRECTION OEM NO

for Vehicles with
Aluminum Wheel Bearing

Length: 435 Bolt Metric: M12X1,5

V-1014K Ball Joint Kit
Front Right

Lower
5Q0407365E

SB 487
Control Arm

Bushing
Center 1K0407182, 5Q0407182

VW-BS152
Control Arm

Bushing
Rear 5Q0407183E, G052150A2

www.teknorot.com 84

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: V-958 ADAPTABLE SEAT
Control Arm and Ball Joint

Weight: 3,751

LEON

MODEL NO BODY YEAR DIRECTION OEM NO

4th Gen 2020-
Front Right

Lower
5WA407152A

COMPONENTS NUMBER NAME DIRECTION OEM NO

for Vehicles with
Aluminum Wheel Bearing

Length: 435 Bolt Metric: M12X1,5

V-1014K Ball Joint Kit
Front Right

Lower
5Q0407365E

SB 487
Control Arm

Bushing
Center 1K0407182, 5Q0407182

VW-BS152
Control Arm

Bushing
Rear 5Q0407183E, G052150A2

TEKNOROT REF: V-958 ADAPTABLE SKODA
Control Arm and Ball Joint

Weight: 3,751

OCTAVIA

MODEL NO BODY YEAR DIRECTION OEM NO

4th Gen 2020-
Front Right

Lower
5WA407152A

COMPONENTS NUMBER NAME DIRECTION OEM NO

for Vehicles with
Aluminum Wheel Bearing

Length: 435 Bolt Metric: M12X1,5

V-1014K Ball Joint Kit
Front Right

Lower
5Q0407365E

SB 487
Control Arm

Bushing
Center 1K0407182, 5Q0407182

VW-BS152
Control Arm

Bushing
Rear 5Q0407183E, G052150A2

www.teknorot.com 85

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: V-959 ADAPTABLE VOLKSWAGEN
Control Arm and Ball Joint

Weight: 3,751

GOLF

MODEL NO BODY YEAR DIRECTION OEM NO

VIII 2020-
Front Left

Lower
5WA407151A

COMPONENTS NUMBER NAME DIRECTION OEM NO

for Vehicles with
Aluminum Wheel Bearing

Length: 435 Bolt Metric: M12X1,5

V-1015K Ball Joint Kit
Front Left

Lower
5Q0407366E

SB 487
Control Arm

Bushing
Center 1K0407182, 5Q0407182

VW-BS152
Control Arm

Bushing
Rear 5Q0407183E, G052150A2

TEKNOROT REF: V-959 ADAPTABLE SEAT
Control Arm and Ball Joint

Weight: 3,751

LEON

MODEL NO BODY YEAR DIRECTION OEM NO

4th Gen 2020-
Front Left

Lower
5WA407151A

COMPONENTS NUMBER NAME DIRECTION OEM NO

for Vehicles with
Aluminum Wheel Bearing

Length: 435 Bolt Metric: M12X1,5

V-1015K Ball Joint Kit
Front Left

Lower
5Q0407366E

SB 487
Control Arm

Bushing
Center 1K0407182, 5Q0407182

VW-BS152
Control Arm

Bushing
Rear 5Q0407183E, G052150A2

www.teknorot.com 86

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: V-959 ADAPTABLE SKODA
Control Arm and Ball Joint

Weight: 3,751

OCTAVIA

MODEL NO BODY YEAR DIRECTION OEM NO

4th Gen 2020-
Front Left

Lower
5WA407151A

COMPONENTS NUMBER NAME DIRECTION OEM NO

for Vehicles with
Aluminum Wheel Bearing

Length: 435 Bolt Metric: M12X1,5

V-1015K Ball Joint Kit
Front Left

Lower
5Q0407366E

SB 487
Control Arm

Bushing
Center 1K0407182, 5Q0407182

VW-BS152
Control Arm

Bushing
Rear 5Q0407183E, G052150A2

www.teknorot.com 87

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: VW-BS165 ADAPTABLE VOLKSWAGEN
Control Arm Bushing

Weight: 0,324

ID.3

MODEL NO BODY YEAR DIRECTION OEM NO

Typ E1 2020- Front Inner 1EA407152B*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 49,8

V-968
Control Arm

and Ball Joint
Front Right 1EA407152B

V-969
Control Arm

and Ball Joint
Front Left 1EA407151B

V-968S Control Arm Front Right 1EA407152B*

V-969S Control Arm Front Left 1EA407151B*

www.teknorot.com 88

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



December 2022

TEKNOROT REF: VW-BS166 ADAPTABLE VOLKSWAGEN
Control Arm Bushing

Weight: 0,361

ID.3

MODEL NO BODY YEAR DIRECTION OEM NO

Typ E1 2020- Front Outer 1EA407152B*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 50

V-968
Control Arm

and Ball Joint
Front Right 1EA407152B

V-969
Control Arm

and Ball Joint
Front Left 1EA407151B

V-968S Control Arm Front Right 1EA407152B*

V-969S Control Arm Front Left 1EA407151B*

www.teknorot.com 89

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm


